

Aufgabe 1

1

$$\bar{F}(q^2) = \int d^3r e^{-iq \cdot r} \rho(r)$$

$$\rho(r) = \int \frac{d^3q}{(2\pi)^3} \bar{F}(q^2) e^{iq \cdot r}$$

$$\bar{F}(q^2) = \int_0^\infty r^2 dr \int_{-1}^1 dt \, 2\pi e^{-iqr} \rho(r)$$

$$= 2\pi \int_0^\infty r^2 dr \frac{e^{iqr} - e^{-iqr}}{iqr} \rho(r)$$

$$\bar{F}(q^2) = 4\pi \int_0^\infty r^2 dr \frac{\sin qr}{qr} \rho(r)$$

$$\rho(r) = \frac{1}{2\pi^2} \int_0^\infty q^2 dq \frac{\sin qr}{qr} \bar{F}(q^2)$$

$$\bar{F}(q^2) = 4\pi \int_0^\infty r^2 dr \left[1 - \frac{q^2 r^2}{6} \right] \rho(r) + O(q^4)$$

$$= \bar{F}(0) - \frac{q^2}{6} \bar{F}(0) \langle r^2 \rangle + O(q^4)$$

$$= \bar{F}(0) \left[1 - \frac{q^2 \langle r^2 \rangle}{6} \right] + O(q^4)$$

$$\rho(r) = \frac{1}{2\pi^2} \int_0^\infty q^2 dq \frac{\sin qr}{qr} \frac{1}{(1 + \frac{q^2}{\mu^2})^2}$$

$$= \frac{\mu^2}{2\pi^2 r} \int_0^\infty dx \frac{x \sin \mu r x}{(1+x^2)^2}$$

$$= \frac{\mu^2}{4\pi^2 r} \left[-\frac{\sin \mu r x}{1+x^2} \Big|_0^\infty + \mu r \int_0^\infty dx \frac{\cos \mu r x}{1+x^2} \right]$$

$$= \frac{\mu^3}{4\pi^2} \int_0^\infty dx \frac{\cos \mu r x}{1+x^2} = \frac{\mu^3}{8\pi} e^{-\mu r}$$

$$= \frac{\mu}{2} e^{-\mu r}$$

$$\rho(r) = \frac{\mu^3}{8\pi} e^{-\mu r}$$

$$F(q^2) = 1 - 2 \frac{q^2}{\mu^2} + O(q^4) = 1 - \frac{q^2}{6} \langle r^2 \rangle + O(q^4)$$

$$\Rightarrow \langle r^2 \rangle = \frac{12}{\mu^2}$$

(3)

$$\langle r^2 \rangle = \frac{\int_0^{\infty} r^4 dr e^{-br}}{\int_0^{\infty} r^2 dr e^{-br}}$$

$$\begin{aligned} \int_0^{\infty} r^4 dr e^{-br} &= -\frac{1}{b} r^4 e^{-br} \Big|_0^{\infty} + \frac{4}{b} \int_0^{\infty} r^3 dr e^{-br} \\ &= -\frac{4}{b} r^3 e^{-br} \Big|_0^{\infty} + \frac{12}{b^2} \int_0^{\infty} r^2 dr e^{-br} \end{aligned}$$

$$\langle r^2 \rangle = \frac{12}{b^2}$$

Aufgabe 2

$$F(\vec{q}) = \int d^3\vec{r} e^{-i\vec{q}\vec{r}} \rho(\vec{r})$$

$$\rho(\vec{r}) = \delta_3(\vec{r}) - c \delta_1(r-r_0)$$

$$Q = \int d^3\vec{r} \rho(\vec{r}) = F(0) = 1$$

$$\begin{aligned} F(\vec{q}) &= 1 - 2\pi c \int_0^{\infty} dr r^2 \int dt \delta(r-r_0) e^{-iqr} \\ &= 1 - 2\pi c r_0^2 \frac{e^{iqr_0} - e^{-iqr_0}}{iqr_0} = 1 - 4\pi \frac{r_0}{q} \sin qr_0 \end{aligned}$$

$$F(\infty) = 1 - 4\pi r_0^2 C = 0$$

(4)

$$C = \frac{1}{4\pi r_0^2}$$

$$F(r) = 1 - \frac{\sin q r_0}{q r_0}$$

$$\frac{dS}{dR} = \left(1 - \frac{\sin q r_0}{q r_0}\right)^2 \left(\frac{dS}{dR}\right)_{\text{with}}$$